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I'pynna 18-29

. Kocrenesyy 13+4+0+1+13+9+]13+0=
2. Conoakon 0+15+15+[5+0+0+0+0=4
3. Temox 0+0+0+7+0+[5+154+3=40
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Cpynna 30-39

I. bypropeku#t 15+1

2. Ulenkon 0+0+1544
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L. Kpeu 15+13+13+15+15+15+]54
2. Kanagonfi 0+7+11+11+0+7+13+
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Cpynna 50-34

L. Towko 1513+ 13+13+13+11+11+11=100
2. Pypur O+15+15+0+15+13+15+ ]3 83
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Tpynna 60-64
Kpuisit 15+13+15+154+0+15+15+135=103
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3. Ogesianiit 04134013+ 131 13+0+13=67

Cpyuna 65-69

1. baynme 15+13+7=13+15+1149+1 =94

2. AbGapaduxos 0+15+15+15-0+13+15+13=86
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I'pyvnoa 70+
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